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115 2K ZRHE WEIZD 15 15 15

119 —K tAIR[ESSC 16 16 16

120 #h¥ #2 tAHEESSC 29 9 3.25297 10 10 9
121 FE (B8 tA#R[ESSC 31 8 3.22.644 14 9 8
124 %0 & tH#EJRSSC 32 10  3.43.450 11 11 10
113 Eith & WEIZT 16 8 8 8

114 ER”RK % HEIST 102 3 1 241838 (341 (341 (341
116 $iiE Kig wEIZT 24 12 12 12

117 5RE & wEIZT 9 9 9

118 #% XMl WEIST 63 6 2 252868 (21)2 (21)2 (21)2
129 BKig X5 —EmHSC 5 18 5 3.06.564 6 7 (55
126 AR 1&4% E&E;ESSC 16 13 4 3.00.108 5 (84 (8)4
128 AL 184 FEESSC 19 5 3.20.067 7 5 7
130 B KER F41SSC 37 11 3.46.865 13 13 11
131 J\f# FIk Z4NSSC 16 15 3 313294 (13)3 6 (36
125 ¥ B JII#ESSC 34 10 3 300000 (84 (13)3 (13)3
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R 1 114 {ER”K HE WEIZD 1 1 1 34 52.828
2 118 % XKl WHEIZT 11 2 21 57.321
3 131 /\# Fk ZANSSC 1 2 3 13 58.014
4 125 ¥FE B/ JII#ESSC 1 2 4 8 59.555

R 5 126 AR K& FEESSC 2 3 59.268
6 129 ik %% —=EHHSC 2 3 59.867
7 128 AT &4 FEESSC 2 4 59.539
8 113 %M I—& HEIST 2 4 1.01.399

FiE 9 117 BRE #%E HEITT 3 1.03.158
10 120 thE #E2 FHIERSSC 3 1.05.110
11 124 &3 2 FHHEJRSSC 4 1.05.572
12 116 #ig Kig HEITT 4 1.07.335
13 130 tHE KER ZEN1SSC 3 1.08.492
14 121 TE 258 FHHEJRSSC 3 1.13.410
15 115 E42K =R WHEITD 4 1.24.136
16 119 —K = FAMR[RESSC 4 1.41.061
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1 114 {E42K #H1Z HEIZD 34 52.828
2 118  #& XM HEIZD 21 57.321
3 131 )\## F|k FZ4NSSC 13 58.014
4 125 #iE B/ JII#%SSC 8 1.00.172
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1 114 {E42K H1Z HEITD 54.911 Q
2 125 #iE BAF JII#%SSC 59.555 Q
3 129 Hix RE —EfHSC 59.867
4 113 it -& HEYSD 1.01.546
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1 118 # XAl WEIST 58.021 Q
2 131 )\## Fk FZ4NSSC 58.216 Q
3 126 AR &4 EF&EESSC 59.268
4 128 AL &% EF&EESSC 59.539
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1 118 # XAl WEIST 58.946
2 126 AR &4 EEESSC 1.00.682
3 117 SREZE #h&E HEIZD 1.03.158
4 116 i Kig HEYSD 1.07.335
2#8 (Race No.16)
ElE No. K& g e A L k=
1 114 {E42K #H1Z HEITD 55.116
2 113 it -& HEYZD 1.01.399
3 121 FE 218 BERSSC 1.13.410
4 115 {ERK Z=RH# HEIZD 1.24.136
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1 125 #iE BA#F JII#%SSC 1.00.374

2 129 HiE X5 —&=HhHSC 1.00.393

3 130 tHE XEB Z%01SSC 1.08.492

4 119 —XK ZA +EIERSSC 1.41.061
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1 131 )\## Fk Z41SSC 58.726
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3 120 #h¥ #2 HEIERSSC 1.05.110
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R 1 114 {ER”K HE WEIZD 1 1 1 34 1.47.919
2 118 % XKl WHEIZT 11 2 21 1.58.162
3 125 #dE HAS JII#ESSC 1 2 3 13 1.59.962
4 126 AR &% FEESSC 2 2 4 8 2.00.038

MR 5 128 AL 184 FEESSC 1 3 2.00.479
6 131 )\ FIX ZAN1SSC 2 3 2.00.634
7 129 ik X% —=HHSC 2 4 2.02.017
8 113 %M —& HEIST 2 4 2.03.871

FiE 9 121 FE B1% tHHEJRSSC 3 2.10.838
10 120 thE #E2 FHIERSSC 3 2.14.608
11 124 &3 2 FHHEJRSSC 4 2.14.927
12 116 #ig Kig HEITT 3 2.17.781
13 130 tHE KER ZEN1SSC 3 2.21.176
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1 114 {E42K #H1Z HEIZD 34 1.47.919

2 118 #& XM HEIZD 21 1.58.162

3 125 #\E BAF JII#%SSC 13 2.00.433

4 126 AR &4 EF&EESSC 8 2.15.744
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1 114 {£42K #HE HEIST 158244 Q
2 126 AR &4 EF=EIESSC 201559 Q
3 128 AL &4 EF&EESSC 2.01.652
4 113 Zith —& HEIST 2.06.827
2#8 (Race No.38)
&g No. K4 i@ 52 A Ls k=
1 118  # XA WEITT 159946 Q
2 125 2 BA#m JII#ESSC 201889 Q
3 131 )\ F3k FZ41SSC 2.02.461
4 129 HiE X5 —&=HhHSC 2.10.713
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1 125 #iE BA#F JII#%SSC 1.59.962
2 126 AR &% EF&EESSC 2.00.038
3 121 FE 218 +HIERSSC 2.10.838
4 124 &0 2 EHERSSC 2.14.927
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&g No. K4 i@ 52 A Ls k=
1 114 {£42K #HE WEIST 1.57.139
2 113 Zith —& WEIST 2.03.871

3 116 ¥ Kig HEIST 2.17.781



3% (Race No.35)

&l No. K% g Bga AL EE
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1 128 AL &% EFEESSC 2.00.479

2 131 J\# F3k FZ41SSC 2.00.634

3 130 tHE XEB Z%01SSC 2.21.176
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R 1 114" K HE WEIZD 1 1 34 2.41.838
2 118 %% XKl WEIZT 1 2 21 2.52.868
3 125 faE BAE JI#%SSC 2 3 13 3.00.000
4 126 AR &% F&EESSC 3 4 8 3.00.108
5 129 ik %% —=EHHSC 4 5 5 3.06.564
6 131 )\ FIX ZAN1SSC 2 6 3 3.13.294

FiE 7 128 AL &% FEESSC 3 3.20.067
8 121 TE B1% FHHEJRSSC 5 3.22.644
9 120 thF HE FBIERSSC 4 3.25.297
10 124 D 2 FHHE[RSSC 6 3.43.450
11 130 tHE KER Z4N1SSC 5 3.46.865
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1% (Race No.7)

& No. K% g Bga AL EE
1 114 {£42K #HE WEIST 34 241838 CR
2 118 # Kl HEYSD 21 2.52.868
3 125 #E BAF JII#%SSC 13 3.00.762
4 126 AR &&E E&E;ESSC 8 3.08.841
5 129 HiE X5 —&=HhHSC 5 3.10.979
6 131 J\#§ F|E FZ401SSC 3 3.13.294
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1#1 (Race No.3)

& No. K% g Bga AL EE
1 114 {£42K #HE WEIST 2.44.623
2 125 2 BA#m JIl#%SSC 3.00.000
3 126 AR &% E&E;ESSC 3.00.108
4 129 HiE X5 —&=HhHSC 3.06.564
5 121 FE B8 +EIERSSC 3.22.644
6 124 D 2 FHIERSSC 3.43.450
2#8 (Race No.4)

& No. K% g Bga AL EE
1 118 # XA WEITT 2.55.630
2 131 J\# F3k FZ41SSC 3.15.864
3 128 AL &4 E&E;ESSC 3.20.067
4 120 #h¥ #2 HEIERSSC 3.25.297
5 130 tHE XEB Z%N1SSC 3.46.865
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102 @A #E tH#EJRSSC 32 9 3.00.754 11 12 9
104 #% & FHAEESSC 39 9 3 239321 (13)3 (13)3 (13)3
105 B S #AF FH#EJESSC 31 10  3.05.025 10 11 10
108 8+ Fkth +HIERSSC 33 10 3.06.223 12 10 11
100 & Emst WEIST 8 16 4 242832 7 5 (8)4
101 FiF BB WEIST 63 6 2 239251 (212 (21)2 (21)2
94 Hit BA WEIST 16 15 4 245233 (84 (8)4 7
95 FlRE A WEIST 5 16 5 243018 5 6 (55
96 ER 1EH HEIST 26 8 2.56.672 9 9 8
97 B RE EHF WEIST 16 8 8 8
109 PR #IK KESSC 3 19 6 243696 6 7 6
2 M BEHE BEITD 102 3 1 237874 (34)1 (34)1 (34)1
111 T BE —EhHESC 38 12 3.12.826 13 13 12
112 fRER Eth ZHNSSC 41 13 3.16.393 14 14 13
8 ERE BLE WEIZT -3
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5K B No K4 & JE 5z FP IR a0 8K ik
R 1 99 M FE4E WEITD 1 1 1 34 50.036
2 101 FE BB WEIZT 1 2 2 21 50.053
3 104 #&% & tH#EJRSSC 1 1 3 13 50.332
4 94 HH BEA WwEIZT 2 2 4 8 50.757
ERB 5 95 HE A WEIZT 1 3 51.756
6 109 PIER FIA KE=ESSC 2 3 52.220
7 100 & EmeE WEIST 2 4 51.896
8 9T ZRE EHX WEIZT 3 4 52.946
TiE 9 96 &R & WEIZT 2 54.199
10 105 BE & tH#EJRSSC 3 57.183
11 102 ithA@ FE tH#EJRSSC 3 57.547
12 108 {8 Ekth +HIERSSC 3 58.704
13 111 }ET BBEE —EmhHASC 4 1.04.416
14 112 IREP Eth Z4N1SSC 4 1.05.711
98 5 RZE ®”4E HEYZT DNS
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1#8 (Race No.27)
EIE No. K& g Ba A L k=
1 99 ™M BRHE FEEISD 34 50.036
2 101 HiE KB HEIZD 21 50.053
3 104 #F E FAHE[ESSC 13 50.332
4 94 HH BA HEIZD 8 50.757
E1BRIEHEFrLUCHY T a— IO RE—R RS —FERESPESRIKRE FER27E9827H
INEEBSFE BF 500m
7E; 2 32
1#8 (Race No.21)
EIE No. K& g e B4 L k=
1 99 WM BRAE EEISD 50.317 Q
2 101 HiE KB HEIZD 51.010 Q
3 109 [FaIER #IK KESSC 52.220
4 97 B=REZE REHF HEIZD 53.532
2#8 (Race No.22)
EIE No. K& iz e A L k=
1 104 #BF = FB#E[RSSC 51.518 Q
2 94 HH BA HEIZD 51.539 Q
3 95 HFlR | HEITD 51.756
4 100 [R gt HEYSD 51.896
E1BRIEHEFrLUSHY T a— I IRE—R RS — M ERESPEURIKRE FER27E9827H
INEEBSFE BF 500m
4 L—AX 48
1#8 (Race No.16)
EIE No. K#£ g e 24 Ls k=
1 101 FiE BB HEIZD 51.943
2 109 &R #IK KESSC 52.599
3 97 =2RZE EHX HEIZD 52.946
- 98 BERZE B4 HEIZD DNS
2#8 (Race No.17)
EIE No. K& g e A L k=
1 104 #F = FB#E[RSSC 51.670
2 94 HH BA HEIZD 51.920
3 108 f@H kth FA#E[ESSC 58.704
4 111 I BE —=HHESC 1.04.416
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&g No. K4 TE 52 A Ls k=
1 95 FE @ HEIST 52.706

2 100 R Im#t HEIST 52.891

3 105 78 #H#F +EIERSSC 57.183

4 112 fRER Eth Z401SSC 1.05.711

4% (Race No.19)
&g No. K4 TE 52 A Ls ik
1 29 M EBHE HEITD 50.880

2 9% TER EH HEIST 54.199

3 102 @A FE HEIERSSC 57.547
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R 1 99 M FE4E WEITD 1 1 1 34 1.43.732
2 101 FE BB WEIZT 1 1 2 21 1.45.048
3 104 #&% & tH#EJRSSC 1 2 3 13 1.43.904
4 94 HH BEA WwEIZT 2 2 4 8 1.45.211

#RME 5 100 [R Ee#st WEIST 1 3 1.46.424
6 95 FME I WEIZT 2 3 1.45.810
7 109 PAIER FIAK KE=ESSC 2 4 1.46.785
8 9T ZRE EHX WEIZT 2 4 1.48.032

TiE 9 96 &R & WEIZT 3 1.56.696
10 108 {83 Ekth +HIERSSC 3 1.59.433
11 105 BE & tH#EJRSSC 3 1.59.685
12 102 ithE@ #E tHHEJRSSC 3 2.05.012
13 111 }ET BBEE —EmhHASC 4 2.07.744
14 112 IREP Eth Z4N1SSC 4 2.13.334
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EIE No. K& g Ba A L k=
1 99 ™M BRHE FEEISD 34 1.44.267
2 101 HiE KB HEIZD 21 1.45.259
3 104 #BF = FA#E[ESSC 13 1.45.450
4 94 HH BA HEIZD 8 1.47.254
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7E; 2 32
1#8 (Race No.39)
EIE No. K& g e B4 L k=
1 101 FiE BB HEIZD 145048 Q
2 94 HH BA HEIZD 145211  Q
3 95 HFlR 1§ HEITD 1.45.810
4 109 &R #IK KESSC 1.46.785
2#8 (Race No.40)
EIE No. K& iz e A L k=
1 99 W BRAE EEISD 143732 Q
2 104 #F E FAHE[ESSC 143904 Q
3 100 [R Ha#st HEYSD 1.46.424
4 97 =2RZE EHX HEITD 1.52.541
E1BRIEHEFrLUSHY T a— I IRE—R RS — M ERESPEURIKRE FER27E9827H
INEEFEE BF 1000m
4 L—AX 48
1% (Race No.34)
EIE No. K#£ g e 24 Ls k=
1 104 #F = FB#E[RSSC 146835 q
2 94 HH BA HEITD 147513 q
3 108 f@H kth FAHE[ESSC 1.59.433
4 111 I BE —=HHESC 2.07.744
2#8 (Race No.35)
EIE No. K& g e A L k=
1 100 [& EHmfst HEIZD 147890 q
2 95 HFlR 1§ HEITD 148163 q
3 105 #HE & BHERSSC 1.59.685
4 112 RE Eth FZ41SSC 2.13.334



3% (Race No.36)

&g No. K4 TE 52 A Ls k=
1 29 M EBHE HEITD 147159 q

2 97 EREZE EHF HEIZD 148032 q

3 9% TER EF/ HEIST 1.56.696

4% (Race No.37)
&g No. K4 TE 52 A Ls ik
1 101 HiE BB WEIST 145990 q

2 109 FaER IR K=SSC 147662 q

3 102 thE FE +E1ERSSC 2.05.012



3 IEHI SR (BEEE A IE L)

FISARFEFrLUIHYT a— S IRE—RRT— I REEVLFEFVIKRE

NEEFFE BF 1500m

5K B No K4 & BRI FP X AL i &%=

R 1 99 M FE4E WEIZD 1 1 34 2.37.874
2 101 FiE BB wEIZT 1 2 21 2.39.251
3 104 #% & tH#EJRSSC 2 3 13 2.39.321
4 100 & ImiE WEIST 1 4 8 2.42.832
5 95 R I WEIZT 2 5 5 2.43.018
6 109 BAIER 1K KESSC 2 6 3 2.43.696

FiE 7 9 HE BEA WEIZT 3 2.45.233
8 96 fER 1I#H WEIZD 3 2.56.672
9 102 ithEH & tHHEJRSSC 3 3.00.754
10 105 HE A& FHHEESSC 4 3.05.025
11 108 83 Ekth +HIERSSC 4 3.06.223
12 111 ;T BEE —EmhHASC 5 3.12.826
13 112 [REF Eth ZEN1SSC 4 3.16.393

Loxl)—

C-AFaJ—F




A BRI R (SVEFD

(Ta—Frouo5RR)

FEEHREFYLUSHY T I—rIVIRE—R Ry — RS PERC AR ER27FE9B27H
INFEEFSE BF 1500m
RE
1#1 (Race No.9)
&g No. K4 i@ 52 A Ls k=
1 29 M EBHE HEITD 34 2.39.409
2 101 HiE LB HEYSD 21 2.40.743
3 104 1%t B FHHE[RSSC 13 2.42.411
4 100 & Hfst WEITT 8 2.43.530
5 95 HE @ HEYSD 5 2.43.630
6 109 Ba[&ER #IK KESSC 3 2.44.062
FEEHEFYLUSHY T a—rIVIRE—R R — RS PER AR ER27FE9B27H
INFEEFSE BF 1500m
3 L—ALE4I6
1#1 (Race No.4)
&g No. K4 i@ 52 A Ls ik
1 29 M EBHE HEITD 237874 q
2 95 FHE @ HEIST 243018 q
3 102 thA FE HE1ERSSC 3.00.754
4 105 78 #H#F +E1ERSSC 3.05.025
5 111 I BE —EfHSC 3.12.826
2#8 (Race No.5)
&g No. K4 i@ 52 A Ls k=
1 101 HiE BB WEIST 239251 q
2 104 #ft B FHHE[RESSC 239321 q
3 9% TER EF/ HEIST 2.56.672
4 108 f&H Ekth +E1ERSSC 3.06.223
3%1 (Race No.6)
&g No. K4 i@ 52 A Ls k=
1 100 " Im#t WEIST 242832 q
2 109 FaER IR K=SSC 243696 q
3 94 HH BEA HEYSD 2.45.233
4 112 fREF Eth Z401SSC 3.16.393



AR IBHLE B S IEE)

FIBAIRFREF LU OhyToa—bhSvIRE—R Ry — b HRBRRPFEVIRE

N (ESE BT

IEfZ No K4 g BA SF IEfis 8mEk = ErsE (0)500m (p)1000m (p)1500m  {E
90 5 EE FHERAT—MEE 52 16 2.35.098 16 17 19
82 ILA % BESK 61 14  2.59.671 14 19 28
13 —K Eb& FHEJESSC 88 27  3.14.952 27 31 30
74 Bk BB HHHRIRSSC 21 13 2 222401 7 4 (21)2
75 Eih E— FHFEESSC 55 12 1 220752 (21)2 9 (34)1
76 BRK EA tH1EESSC 87 29 3.04.985 29 29 29
77 B FEE FARR[ESSC 42 11 2.34589 11 18 13
78 Iy B3I FHEJRSSC 60 19 2.35.327 19 21 20
79 HIl B FHHEJRESSC 61 16 2.46.101 16 22 23
69 H L thiE B T34kSC 42 13 2.28.404 13 15 14
N B R&E —=fHSC 75 24 2.47.091 26 25 24
92 AHE RKIE —=fHSC 27 6 226517 9 6 12
64 RE B HHMPAE—KES 89 28 3.15.015 28 30 31
65 RE H1& HHMPEAE—FES 78 25 2.56.110 25 27 26
66 ¥k {HE HHMEAE—FES 33 10  2.24.669 12 10 11
83 LA HF Jjnassc 45 17 2.34.920 28 17
84 HH [EF JIlASsc 34 21 1 220571 (34)1 13 7
60 Bl F1&F LB REHESE 8 14 3  221.393 6 5 (8)3
61 18Il %K WREEASHESE 50 9 1 223582 (133 (341 (35
81 EREZE AF INBER 5 19 4 221959 8 7 (54
80 & T # INBR R 50 11 2.30.028 24 11 15
68 Ei5 tth HBEAE—KHST 68 21 2.39.219 23 24 21
62 #& FW B PR 21 22 2 226.154 10 (21)2 10
85 R %’ N £ g 38 9 2.25.095 15 14 9
93 ¥r¥ HEMHE SCLtE 67 22 2.44.429 22 (13)23 22
67 ¥4 FNK FHAEREK 8 20 4 226505 (8)4 8 8
88 HIL &8 FERE fRSSC 82 25 2.54.830 31 26 25
89 BREF HEAER FHRE P RSSC 2.57.200 30 27
70 LI K5 ¥R 4[] 22 AR 41 20 21 20
86 ¥ fiiiE i) & PR &R AR 52 16 2.36.518 18 16 18
87 # HIXK i) & PR AR AR 48 12 2.31.959 20 12 16
63 /hith FTER RIEFZER 13 14 3 222921 5 3 6
1 BH BK HHHERSSC

Loxl)—

C-AFaJ—F




A IE6 R (BB R IREL)

va—kcTY 5

FISARFEFYLUSHYT L a— b SYIRE—R AT — b REEPFUIKRE

hEEERE BF 500m

S5 K B No K4 Bl JE 5z FP IR a0 ok i
R 1 84 FH BEFE JIIASSC 1 2 2 1 34 44,530
2 75 Fih E— FHEJRSSC 1 2 1 2 2 44557
3 611&8)I %K WElsmAEMESSE 1 1 1 3 13 44.560
4 67 WE FK FHEXSK 1 2 2 4 8 44.964
ZERB 5 63 /hth Fmat FIEh 24 1 1 3 44.703
6 60 18I FIE R REHESHE 1 2 3 45.418
7 14 EH% B FAMR[RESSC 1 1 4 44859
8 81 =RZE XFH INBERR 1 1 4 45.441
#2992 AH IE —=HHSC 2 3 45.712
10 62 #& fRR B ER 2 3 46.996
11 77 Hep FE FAHR[RSSC 2 3 47.591
12 66 A%k {HE HWERAE—K¥ES 2 3 48.342
13 69 FL thig Y TS54kSC 2 4 47.801
14 82 lUE ¥ BESKR 2 4 48.006
15 85 F H NI £ g 2 4 48.427
FiE 16 90 B = FHMERT—MEE 2 49.624
gkl 16 79 HII E FHEJRSSC 3 4 48.577
FiE 18 86 ¥ fiiE fif] & Fa 5B Hh 224 3 48.783
19 78 iy &3} FHHE[RESSC 3 48.849
20 87 ¥ #IXK fif] & Fa &R Fh 224 3 48.905
21 70 LU K5 i Tl ileele ot 5 4 49.068
22 93 ¥E HH SCtRE 3 51.252
23 68 HE iftth HBEAE—KHYS5T 3 52.026
24 80 FT & INBHERR 3 55.024
25 65 RE H1& HWFERAE—RFES 3 56.715
26 91 BF R4&E —=HHSC 4 58.381
27 73 —K &5 FR#E[ESSC 4 59.686
28 64 RE R HHFRE—KHEE 4 59.692
29 16 EK EA FB1ERSSC 4 1.00.612
30 89 fREF EAHER FHRE P HRSSC 4 1.13.741
31 88 HIU 1&xE FHRE I HRSSC 4 1.15.226
M BEH %K FHHE[RSSC DNS
Loxl)—

C-AFaT—F




A BRI R (SVEFD

(Ta—Frouo5RR)

E1BRIEHEF YL SHY T a— I IRE—RRY—FERESPEURIKRE FER27E9827H
hig A ER4E BF 500m
Iﬁg
1#8 (Race No.29)
EIE No. K& g Ba A L k=
1 84 TFHH EF JIIASSC 34 44530
2 75 Eih E— BHERSSC 21 44,557
3 61 1|l &K ILRZRKRZMBESR 13 44560
4 67 WE FK FHELSH 8 45.237
E1BRIEHEFrLUCHY T a— IO RE—R RS —FERESPESRIKRE FER27E9827H
hig A ER4E BF 500m
7E; 2 32
1#8 (Race No.23)
EIE No. K& g e B4 L k=
1 75 FE5h E— FB#E[RSSC 45.300 Q
2 67 WE FK FHELSH 45.364 Q
3 63 /hth FRER RIEPZER 45.405
4 81 SERZE A& INBER 45.441
2%#1 (Race No.24)
EIE No. K& iz e A L k=
1 61 1{JIl %K LB Z PR K Z B = AR 44941 Q
2 84 THH EF JilAssc 45.402 Q
3 60 i8J)Il O I BRI K2 M B AR 45529
4 74 I5Ek B& FAHE[ESSC 1.15.276
E1BRIEHEFrLUSHY T a— I IRE—R RS — M ERESPEURIKRE FER27E9827H
hig A ER4E BF 500m
ZER; 4 A2
1#8 (Race No.17)
EIE No. K#£ g e 24 Ls k=
1 63 /\th FEER RIERZER 44.703 Q
2 67 WE FK FHELSH 44.964 Q
3 62 # (R AR PR 46.996
4 85 B & NI EehzEss 48.427
2#8 (Race No.18)
EIE No. K& g e A L k=
1 81 SRZE AHF INBESR 45777 Q
2 84 THH BETF JIlA@ssc 46.916 Q
3 77 H4 FE BHERSSC 47.591
4 69 FHLE thig HTFS54kSC 47.801



3% (Race No.19)

&g No. K4 i@ 52 A Ls k=
1 61 &)l 5%K MEEAT PRI T 45.289 Q
2 60 1)1l T LB B K M AR 45418 Q
3 66 I {HE HWBPAE—KE: 48.433
4 82 |UHE #HE BESK 48.488
4% (Race No.20)
&g No. K4 i@ 52 A Ls ik
1 74 IEE B HIERSSC 45.125 Q
2 75 Eih E— +EIERSSC 45616 Q
3 92 HH KIE —EfHSC 45.712
4 79 HIl #E FEIERSSC 1.00.572
FEEHEFYLUSHYTOa—rIVIRE—R R — RS PEN AL ER27FE9B27H
REEEERE BF 500m
8 L—RXEfi16
1#8 (Race No.13)
&g No. K4 i 572 A Ls k=
1 67 WE FK FHEXAGK 46.074 q
2 85 B’ & NI Edh s 48.469 q
3 87 MM X ] & P8 &R Hh A 48.905
4 70 L K& ¥/ B 22 49.068
2#8 (Race No.14)
#IE No. K% il /A AAL E
1 74 Ik B HIERSSC 44.859 q
2 66 IF {HE HEMFEAE—KE3 48.342 q
3 80 AT # INEB R AR 55.024
4 64 KRB R HHPERE—FE= 59.692
3% (Race No.15)
&g No. K4 i@ 572 A Ls k=
1 84 TH BEFE JIIASSC 45153 q
2 82 |UHE #HRE BESK 48.006 q
3 78 il B3} HEIERSSC 48.849
4 713 —XK BB +EIERSSC 59.686
4% (Race No.16)
#IE No. K% il /A AAL EE
1 75 Eih E— HIERSSC 46.333 q
2 69 FHL thig HT54kSC 47.806 q
3 86 #k fiiE ] & P8 5R Hh A 48.783
4 76 BHKRK EA HEIERSSC 1.00.612
5% (Race No.17)
&g No. K4 i@ 572 A Ls k=
1 61 &)l 5%k MEEAT PRI T 45.410 q
2 90 MY E FHERT— MRS 49.624 q
3 65 RE ®1E FHPERAE—KE= 56.715
4 89 EREF M@AER FHE FLSSC 1.13.741



6% (Race No.18)

&g No. K4 i@ 52 A Ls k=
1 63 /hith FE RIE 2R 44.968 q

2 77 H4 FE HEIEESSC 48.435 q

3 93 FFEF HR SCLE 51.252

- 1 BHF %K HHERSSC DNS

7#8 (Race No.19)
&g No. K4 i 52 A Ls ik
1 60 1)l T I B BR K M SR 45,678 q

2 62 # FWX B R 47.151 q

3 79 Hil E HEIERSSC 48.577

4 88 HIL &xE FHE FHSSC 1.15.226

8% (Race No.20)
&g No. K4 i 52 A Ls k=
1 81 SERZE At#& INBER 45.994 q

2 92 HH KIE —EfHSC 46.177 q

3 68 HE ftth HBERE—KH5T 52.026

4 91 BF R&E —EfHSC 58.381



A IE6 R (BB R IREL)

va—kcTY 5

FISARFEFYLUSHYT L a— b SYIRE—R AT — b REEPFUIKRE

hELEERE 5F 1000m

S5 K B No K4 Bl JE 5z FP IR a0 ok i
R 1 611 %KX WElsmASMESSE 1 1 1 1 34 1.34.595
2 62 % fRW AP ER 1 2 2 2 21 1.36.357
3 63 /\th TEEt FIE 245 1 1 1 3 13 1.31.065
4 74 Bk BB FHHEJRSSC 1 2 2 Penay 1.33.730
R 5 6015 AT WESmASHESSR 1 2 3 1.31.603
6 92AH miE —=HHSC 2 2 3 1.34.704
7 81 ERE AFH INBERR 1 1 4 1.32.932
8 67 E FK FHRELEKR 1 1 Penaty 1.35.745
#aREB 9 75 BEh BE— HHHERSSC 1 3 1.36.445
10 66 % {HE HWERAE—K¥ES 2 3 1.38.223
11 80FTFT & INBRRERR 2 3 1.38.346
12 87 # #{IXK ] & P8 5B 24 2 3 1.38.968
13 84 FH BEF Jjigassc 1 4 1.38.839
14 85 FH &R NI EehEEgs 2 4 1.35.792
15 69 H#L thig Y TS14kSC 2 4 1.38.041
16 86 ¥ fiiE fif] & 75 5B Fh 224 3 4 1.39.185
FiE 17 90 B/ = FHERT—MEE 2 1.40.710
18 77 Heh FE FAHR[RESSC 2 1.42.126
19 82 lUE ¥ BESKR 2 1.43.442
20 70 LUl K5 B th AR 3 1.40.361
21 78 fhAly &3} FHEJRSSC 3 1.42.109
22 79HIN E FHEJRSSC 3 1.42.818
23 93 ¥E HH SCELtRE 3 1.43.239
24 68 HE ftth HBEAE—KHYS5T 3 1.45.824
25 91 B R4&E —=HHSC 3 1.47.480
26 88 HIU 1&#E FHRE P HRSSC 3 1.51.938
27 65 RE H1& HWERAE—KES 3 1.55.237
28 83 LuA HT Jilassc 4 2.01.767
29 76 EK EA FB1ERSSC 4 2.05.015
30 64RE R HHFRAE—KHES 4 2.11.280
31 73 —K &5 FR#E[ESSC 4 2.13.283
M BEH %K FHHE[RESSC DNS
89 BREF fEAKER FHEHRSSC  DNS
Loxl)—

C-AFaTJ—F




A BT (GIVFED
(Ta—Frouo5RR)

E1BRIEHEF YL SHY T a— I IRE—RRY—FERESPEURIKRE ER27FE9B27H

hE4EERLE BF 1000m
- =E

1#8 (Race No.47)

EIE No. K& g Ba A L k=

1 61 1{JIl %K IR KRZMBESR 34 1.39.775

2 62 MM (R [FaEsqal=atin 21 1.40.434

3 63 /th FoER RIEZER 13 1.51.162

- 14 R BB fHHEJRSSC Penalty
E1BRIEHEFrLUCHY T a— IO RE—R RS —FERESPESRIKRE FER27E9827H

hEEERAE BF 1000m
7E; 2 32

1#8 (Race No.41)

& No. K% g Ba B4 L k=
1 63 /th FEE RIE 2R 135797 Q
2 62 Fk R B R 1.36.861 Q
3 92 HH KIE —EfHSC 1.36.960
- 67 WiE FK FHEAEK Penalty
2#8 (Race No.42)
&l No. K% g Ba B4 L k=
1 61 &)l 5%K MEEAT PRI T 134595 Q
2 74 Bk B HIERSSC 134701 Q
3 60 1)1l T BB K M AR 1.34.738
4 81 SERZE A& INBER 1.34.973
FEEHEFYLUSHYTLa—rIVIRE—R Ry — RS PERC AR ER27FE9B27H

g S E BF 1000m
ZER; 4 A2

1#8 (Race No.35)

&g No. K4 TE 52 A Ls k=
1 81 SERZE At#& INBER 138009 Q

2 62 #M (R B R 1.38257 Q

3 80 AT # INEBRER 1.38.346

4 85 B & NI Edh s 1.38.560

2#8 (Race No.36)
&g No. K4 TE 52 A Ls k=
1 67 WE FK FHENXASEK 137063 Q

2 74 EE B FHHE[RESSC 1.37.167 Q

3 66 HF {HE HHMPAE—KE: 1.38.223

4 69 FHL thig HT54kSC 1.40.123



3% (Race No.37)

&l No. K% g Bga AL EE
1 63 /th FEE RIEhZEH 1.31.065 QCR
2 60 1)1l T LB B K M AR 1.31.603 QCR
3 75 Eih E— HIERSSC 1.36.445
4 86 #k fiiiE ] & P8 5B R A 1.40.580
4% (Race No.38)

&l No. K% g Bga AL EE
1 61 EJIl %K MEEAT PRI T 134645 Q
2 92 4HH mKIE —EHHESC 1.36.246 Q
3 87 M X ] & FE 5B Hh A 1.39.460
4 84 THH BT JIIASSC 1.55.763

FEEHEFYLUSHYTOa—rIVIRE—R R — RS PEN AL ER27FE9B27H

EF'%EMJ&E B+ 1000m
L—AL{i16

1#8 (Race No.31)

& No. K% g Bga AL EE
1 75 E5h B HIERSSC 1.38.361
2 66 K 1*61?5 HHBPAE—KE: 1.39.517
3 70 L K& ¥/ B 2 1.40.361
4 83 uA #HE JIIASSC 2.01.767
2#8 (Race No.32)

&l No. K% g Bga BA L EE
1 67 ,$ FKX FHEXAEEK 1.35.745
2 85 B & NI EFh s 1.35.792
3 91 ﬁir RE —EfHSC 1.47.480
4 713 —XK BB +EIERSSC 2.13.283
3% (Race No.33)

&l No. K% g Bga BA L EE
1 74 ik B HIERSSC 1.33.730
2 92 HH KIE —EfHSC 1.34.704
3 79 HIl #E +EIERSSC 142818
4 64 KRB R HHPERE—FE= 2.11.280
4% (Race No.34)

&l No. K% g Bga BA L EE
1 60 1)l T IET=ETE PR Tyt 5 1.34.957
2 90 MY E FHERT— MRS 1.40.710
3 93 FFEF HER SCLE 1.43.239
4 76 BHKRK EA HEIERSSC 2.05.015
5% (Race No.35)

&l No. K% g Bga AAL EE
1 63 /th FEE RIE R 1.34.142
2 77 H4 FE HEIERSSC 1.42.126
3 65 RE & HHPERE—FE= 1.55.237
- 89 EREF f@AER FHE FLSSC DNS



6% (Race No.36)

&g No. K4 i@ 52 A Ls k=
1 62 H FWX AR 1.36.357

2 69 FHL thig HT54kSC 1.38.041

3 88 HIL &2 FHE FLRSSC 1.51.938

- 1 BHF %K BIERSSC DNS

7#8 (Race No.37)

&g No. K4 i 52 A Ls ik
1 81 SERZE At#& INBER 1.32.932

2 80 AT # INEB R AR 1.39.931

3 78 il B3} HEIERSSC 1.42.109

8% (Race No.38)
&g No. K4 i 52 A Ls ik
1 84 TH BEFE JIIASSC 1.38.839

2 87 M X ] & P8 5B R A 1.38.968

3 86 #k fiiiE ] & P8 ER R A 1.39.185

9% (Race No.39)
&g No. K4 i 52 A Ls ik
1 61 &)l 5%k MEEAT PRI T 1.34.803

2 82 LA FE BESK 1.43.442

3 68 BE Mt HERAE—KH5T 1.45.824



3 IEHI SR (BEEE A IE L)

FISARFEFrLUOHYT a— S IRE—RRT— M REEVCFEFVIKRE

hEEERE BF 1500m
5K B No K4 & JE 5z FP IR a0 8K ik
R 1 75 FE5h E— FH#EJRSSC 1T 1 1 34 2.20.752
2 14 B tAIR[ESSC 1 2 2 21 2.22.401
3 60 #E)Il T LB REMESHE 1 3 3 8 2.21.393
4 81 5RE At&E INBER 1 3 4 5 2.21.959
5 61181 %K WRSEAEHESE 2 2 5 3 2.23.582
6 63 /th T RIE 24 2 1 Penatty 2.22.921
HRRE 7 84 FH [BEE Jassc 1 4 2.20.571
8 67HWE FK FHRELEK 2 4 2.26.505
9 85F & N EfEEgs 1 5 2.25.095
10 62 % R B 2 5 2.26.154
11 66 3%k {HE HEEAE—FES 2 6 2.24.669
12 92 &AHE miE —=®HHSC 3 6 2.26.517
& 13 771 HHE FE FAIR[RESSC 2 2.34.589
14 69 F L thig HTS14kSC 3 2.28.404
15 80 %FT #® INBRER 3 2.30.028
16 87 # XK ] & 78 &R R 24 3 2.31.959
17 83 WA #HF JIIASSsc 3 2.34.920
18 86 % fniE ] & 8 & R 24 3 2.36.518
19 90 fa8 E2 FHMEAT— I 4 2.35.098
20 78 duly E3 tH#EJRSSC 4 2.35.327
21 68 &HE it HERAE—KYST 4 2.39.219
22 93 ¥ R SCtLtE 4 2.44.429
23 79 W #E tH#EJRSSC 4 2.46.101
24 91 B R4& —=HHSC 4 2.47.091
25 88 HIU 1£#E FHRE fRSSC 5 2.54.830
26 65 RE H©1& HEMEAE—RHES 5 2.56.110
27 89 fREF {EKER FHRE I RSSC 5 2.57.200
28 82 LA #HZE BESK 5 2.59.671
29 16 BK EA +HIERSSC 5 3.04.985
30 73 —XK &5 tAIR[ESSC 6 3.14.952
31 64 RE B HHERE—FES 6 3.15.015
Loxl)—

C-AFa1J—FK




A BRI R (SVEFD

(Ta—Frouo5RR)

FISERBRFrLOhy T a—bhSvIRE—R R~ MEREPFEVC RS TRE274E9/27H
REEEERE BF 1500m
Iﬁg
1#8 (Race No.11)
& No. K% g Bga ALl EE
1 75 Eih E— HIERSSC 34 2.26.118
2 74 EBE B FHHE[RESSC 21 2.26.264
3 60 1)l T IWERPRERZMESR 8 2.27.369
4 81 EREZE A& INBERR 5 2.36.524
5 61 18JIl %K IWRPRERZHESR 3 2.44.859
- 63 /hith T RIEHZK Penalty
FBARFETF LSy T a— SvIRE—R R —MEREOFEUCAE ER27F9827H
¢+$m$§é$ B F 1500m
573
1#1 (Race No.5)
& No. K% g Bga BAL  EE
1 75 Eih E— FA#E[ESSC 232090 Q
2 61 &Il %K B2 IR K MBS 232654 Q
3 60 1)1l T RT3 Rt R ) 233172 Q
4 67 WE FK FHELEK 2.33.390
5 62 H R B R 2.33.905
6 92 HH KIE —EfHSC 2.33.918
2#8 (Race No.6)
& No. K% g Bga ALl EE
1 63 /hith FE RIE 2R 235810 Q
2 74 EBE Bk FHHE[RSSC 235949 Q
3 81 ZRE AF INBER 235997 Q
4 84 THH BETF Jilassc 2.36.173
5 85 B &H NI Edh s 2.38.344
6 66 M {HIFE HEAE—RES 2.38.519
FBEEHEFrLUSHY T a—khSvIRE—R Ry — R A VEUIAS k27498278
¢+$m$§é$ B F 1500m
L—ALE1i12
1#1 (Race No.1)
&l No. K% g Bga ALl EE
1 75 Eih E— HIERSSC 2.20.752
2 62 H R B R 2.26.154
3 87 *75 ﬂlx ] & P8 5B R A 2.31.959
4 68 BHE Mtk HEAE—KHS5T 2.39.219
5 76 BKRK EA FHHERSSC 3.04.985
6 64 RE R HHPRERE—FE= 3.15.015



2#8 (Race No.2)

&g No. K4 i@ 24 L k=
1 84 TFHH BEF JIIASSC 2.20.571

2 63 /ith FEE g hg 2.22.921

3 80 AT # INEB R AR 2.30.028

4 78 il B3} +EIERSSC 2.35.327

5 65 RE H1& HMPERE—FE= 2.56.110

6 13 —XK BB FEIERSSC 3.14.952

3%8 (Race No.3)

&g No. K4 i@ 24 L k=
1 81 SERZE A& INBER 2.21.959

2 77 H4 FE HEIERSSC 2.34.589

3 83 uA #HE JIlAssc 2.34.920

4 90 My I FEHMEAT—MEE 2.35.098

5 89 EREF f@AER FHRE FHSSC 2.57.200

4% (Race No.4)
&g No. K4 i@ 24 L ik
1 60 1)l T ITET=ETE R oY=t 5 2.21.393

2 66 IF {HE HWBPAE—KE: 2.24.669

3 69 FHL thig HT54kSC 2.28.404

4 93 ¥r¥ HHE SCLE 2.44.429

5%8 (Race No.5)
&g No. K4 i@ 24 L k=
1 85 B’ NI EehzEds 2.25.095

2 67 WE FK FHENAEK 2.26.505

3 92 HH KIE —EfHSC 2.26.517

4 91 BF R&E —EfHSC 2.47.091

5 88 HIL &E FHE FHSSC 2.54.830

6%8 (Race No.6)
&g No. K4 i@ 24 L ik
1 74 ik B HIERSSC 2.22.401

2 61 &)l 5%K B IR K MBS 2.23.582

3 86 #k fiiiE ] & P8 5B R A 2.36.518

4 79 HIl #E HHIERSSC 2.46.101

5 82 |UHE #HRE HESKR 2.59.671



AR I

FIBAIRFREF LU OhyToa—bhSvIRE—R Ry — b HRBRRPFEVIRE

(BEIEHL)

INFEHEESE TF

IEfZ No K4 g BA SF IEfis 8mEk = ErsE (0)500m (p)1000m (p)1500m  {E
1 49 fRH BAE KESSC 102 3 1 3.04228 (34)1 (34)1 (34)1
2 2B BERE WwEIZT 63 6 2 3.09.609 (21)2 (21)2 (21)2
3 48 WNE BF JII#ESSC 39 9 3 313712 (13)3 (13)3 (13)3
4 40 HFE BR WEITT 24 12 4 317314 (84 (84 (8)4
5 51 BXK 57 —=HHASC 5 15 5 3.29.229 5 5 (5)5
6 47 —K KE tH#EJRSSC 2 19 6 3.36.509 6 6 (27
7 43 HHE ERK FH#EJRSSC 3 20 6 3.34.851 7 7 (3%
8 52 57EF tiE SCLtE 1 24 8 3.36.708 8 8 (1)8
9 4 M XRE WwEIZT 18 9 9 9

10 45 &% & tH#EJRSSC 21 10 11 10

10 46 BB TFE tH#EJRSSC 21 10 10 11

12 44 PG #&%FE FH#EJRSSC 24 12 12 12

Loxl)—

C-AFaTJ—F




3 IEHI SR (BEEE A IE L)

FISARFEFrLUOHYT a— S IRE—RRT— M REEVCFEFVIKRE

I (ES A £ F 500m

5K B No K4 & JE 1L FP IR a0 8K ik

R 1 49 fRH BAE K=ESSC 1 1 1 34 58.990
2 A2HE BERE WEIZT 1 1 2 21 1.00.759
3 48 E BT JII#ESSC 1 2 3 13 1.01.928
4 40FE BE WEIZT 2 2 4 8 1.03.107

HEREE 5 51 BK BH —=HHASC 2 3 1.03.495
6 47 —K KE +HIERSSC 3 3 1.07.964
7 43 HHE ERK tH#EJESSC 2 4 1.09.309
8 52 7%y tiE SCLtE 3 4 1.11.569

Fi& 9 41 M XRAE WEIST 4 1.15.653
10 46 BB = tH#EJRSSC 3 1.21.457
11 45 W&E & FH#EJRSSC 4 1.27.317
12 44 FHfE #&EFE FH#EJRSSC 4 1.43.158

Loxl)—

C-AFa1J—K




A BT (GIVFED
(Ta—Frouo5RR)

EBERFREFrLUSHyTILa—bSvIRE—RRT— MRS OFUIAS Tr2749H27H
INEHBEEE 2F 500m
Iﬁ%
1% (Race No.24)
=B No. K#£ TE B/e A I k=
1 49 fRrHE BAE KESSC 34 58.990
2 42 e EEE HEIZD 21 1.00.759
3 48 WiE BT JII#%SSC 13 1.01.928
4 40 FTE BR HEYZD 8 1.03.107
FEEHEF LU SHY T a—rSv I RE—R Ry —MEREPEUT AR FERk27498278
lJ\+_¢_1E+$ ZF 500m
32
1#8 (Race No.20)
=B No. K#£ TE B/e A I k=
1 49 fRrHE BAE KESSC 1.00420 Q
2 40 TE BE HEYSD 103177 Q
3 51 BK 167 —=hHSC 1.03.495
4 52 E tiE SCLE 1.11.569
2#8 (Race No.21)
B No. K% FiE BE AL {EE
1 42 e EERE HEITD 1.01.633 Q
2 48 WE & JII#%SSC 1.02831 Q
3 47 —K KB FAHE[ESSC 1.07.964
4 43 THME =B FA#E[ESSC 1.10.413
FEEHEF LU SHY T a— Sy RE—R Ry —MEREPEUTAS FERk27498278
lJ\+_¢_1E+$ ZF 500m
L—AL{i8
1#8 (Race No.14)
=B No. K#£ TE B/e EREN k=
1 49 fRrHE BAE KESSC 1.00537 q
2 43 THRE EK FEHERSSC 1.09.309 q
3 47 —K KB FAHE[ESSC 110239 q
4 41 M XRE HEIZD 1.15.653
2#8 (Race No.15)
B No. K% FiE B AL fEE
1 42 e EERE HEITD 1.03.081 q
2 51 BX 157 —=EfHHASC 1.06.897 q
3 52 E tilE SCLE 1.13.747 q
4 44  THEE fEE FBHERSSC 1.43.158



3% (Race No.16)

&g No. K4 i@ 52 A Ls k=
1 48 WE T JII#%SSC 1.03.128 g

2 0 TFE BE HEIST 103291 g

3 46 FE TE FHHE[FESSC 1.21.457

4 45 WRE F HIERSSC 1.27.317



3 IEHI SR (BEEE A IE L)

FISARFEFrLUOHYT a— S IRE—RRT— M REEVCFEFVIKRE

INFEH KSR ZF 1000m

5K B No K4 & JE 1L FP IR a0 8K ik

R 1 49 fRH BAE K=ESSC 1 1 1 34 2.01.181
2 A2HE BERE WEIZT 1 1 2 21 2.05.513
3 48 E BT JII#ESSC 1 2 3 13 2.07.055
4 40FE BE WEIZT 2 2 4 8 2.11.065

HEREE 5 51 BK BH —=HHASC 2 3 2.15.121
6 47 —K KE +HIERSSC 2 3 2.21.915
7 43 HHE ERK tH#EJESSC 3 4 2.27.350
8 52 7%y tiE SCLtE 3 4 2.33.970

Fi& 9 41 M XRAE WEIST 3 2.41.275
10 45 &% # tH#EJRSSC 4 2.57.027
11 46 BB =% FH#EJRSSC 4 2.59.400
12 44 FHfE #&EFE FH#EJRSSC 4 3.35.718

Loxl)—

C-AFa1J—K




A BT (GIVFED
(Ta—Frouo5RR)

E1ISEEHEFrLUSHYToa—rSUIRE—R Ry —rEEREPFEURIAS TRk2749827H
INEHARSE S &F 1000m
Iﬁ%
1% (Race No.42)
ElE No. K& g Ba A L k=
1 49 fRrHE BAE KESSC 34 2.01.181
2 42 e BEHE HEIZD 21 2.05.513
3 48 WiE BT JII#%SSC 13 2.09.780
4 40 FTE BR HEYZD 8 2.14.760
FEEHEF LU SHY T a—rSv I RE—R Ry —MEREPEUT AR FERk27498278
lJ\+_¢_1E+$ ZF 1000m
32
1#8 (Race No.38)
ElE No. K& g e A L k=
1 49 fRrHE BAE KESSC 203.700 Q
2 40 TE BE HEYSD 214867 Q
3 51 BK 167 —=hHSC 2.15.121
4 52 E tiE SCLE 2.33.970
2#8 (Race No.39)
ElE No. K& iz ‘ e A L k=
1 42 e EERE HEITD 206896 Q
2 48 WE & JII#%SSC 207055 Q
3 47 —K KB FAHE[ESSC 2.21.915
4 43 THME =B FA#E[ESSC 2.29.306
FEEHEF LU SHY T a— Sy RE—R Ry —MEREPEUTAS FERk27498278
lJ\+_¢_1E+$ ZF 1000m
L—AX 48
1#8 (Race No.32)
ElE No. K#£ g e A L k=
1 49 fRrHE BAE KESSC 2.07.600
2 47 —K BREE FA#E[ESSC 2.22.141
3 43 THME =R FA#E[ESSC 2.27.350
4 46 BEE TE tA#E[ESSC 2.59.400
2#8 (Race No.33)
ElE No. K& g e A L k=
1 42 e EXE HEIZD 2.09.047
2 51 BAK 157 —=fhHASC 2.20.333
3 52 =EH tiE SCLE 2.37.896
4 45 WEE F tA#E[ESSC 2.57.027



3% (Race No.34)

&g No. K4 TE 52 A Ls k=
1 48 WE T JIIF#ESSC 2.10.809
2 40 TE BXE WEIST 2.11.065
3 41 M RE HEYSD 2.41.275
4 44 THRE $%E +EIERSSC 3.35.718



A IE6 R (BB R IREL)

va—kcTY 5

FISARFEFYLUSHYT L a— b SYIRE—R AT — REEPFUIKRE

INFEH KSR ZF 1500m

5K B No K4 Bil=] JIEs FP RS AL IR &%=
R 1 49 fRE BHE KESSC 1 34 3.04.228

2 M2 ¥E EEAE HEITT 2 21 3.09.609

3 BWE BT JII#%SSC 3 13 3.13.712

4 AFE BE HEITT 4 8 3.17.314

5 51 BK 157 —=HHSC 5 5 3.29.229

6 43 R EE FHEJRSSC 6 3 3.34.851

7 47 —K KE HHHERSSC 7 2 3.36.509

8 52 %% tiE SCERE 8 1 3.36.708

Loxl)—

C-AFaJ—F




A BT (GIVFED
(Ta—Frouo5RR)

FEEHREFYLUSHY T I—rIVIRE—R Ry — RS PERC AR ER27FE9B27H
INFEEESESE Z2F 1500m
Iﬁ%
1#1 (Race No.6)
&g No. K4 i 52 A Ls k=
1 49 fRrHE BAE KESSC 34 3.04.228
2 42 #HilE BERE HEYSD 21 3.09.609
3 48 WE & JII#ESSC 13 3.13.712
4 40 TE BXE HEIST 8 3.17.314
5 51 BXK 157 —=hHSC 5 3.29.229
6 43 THRE EBE +HIERSSC 3 3.34.851
7 47 —K BKE FEIERSSC 2 3.36.509
8 52 %% tiE SCLtE 1 3.36.708



A G

(BEIEHL)

va—kcSY IR

FIBAIRFREF LU OhyToa—bhSvIRE—R Ry — b HRBRRPFEVIRE

INFERSE T

IEfZ No K4 g BA SF IEfis 8mEk = ErsE (0)500m (p)1000m (p)1500m  {E

34 BIFr M0 +HIERSSC 55 7 2 246949 (21)2 (13)3 (21)2
3B HI 8 FH#EJRSSC 47 8 2 248870 (13)3 (21)2 (13)3
36 L 555 +HIERSSC 102 3 1 246881 (341 (341 (341
3T BH B FHERSSC 8 14 4  249.329 5 5 (8)4
33 Il #F WEIST 13 15 4 250239 (8)4 6 (5)5
39 ik #Rmx —EhHESC 11 16 4 252834 6 (84 (3)6
38 #t Lk A« FEEHHRSSC 2 23 7 3.09.762 8 8 (27
32 18Il #EE ExERT—FIST 14 7 7 7

Lozx!)—

C-AFaJ—F




3 IEHI SR (BEEE A IE L)

FISARFEFrLUIHYT a— S IRE—RRT— I REEVLFEFVIKRE

INEEBFE ZF 500m

5K B No K4 i Gz FP X AL i &%=
R 1 36 dall 555 +HIERSSC 1T 1 34 52.572

2 34 BlFr =M +HIERSSC 1T 2 21 52.786

3 3 HI & FH#EJRSSC 2 3 13 53.803

4 33Tl HF WEIZT 3 4 8 55.433
FiE 5 37F\/HF FJ: +HIERSSC 2 55.635

6 39 HBE FREX —BEfHSC 3 57.100

7 32 8Bl #HEx ETERS—NST 4 58.971

8 38HLE HK FH =P RSSC 4 1.00.952

Loxl)—

C-AFaJ—K




A BT (GIVFED
(Ta—Frouo5RR)

E1BRIEHEF YL SHY T a— I IRE—RRY—FERESPEURIKRE ER27FE9B27H

INFEE B EEE LTF 500m
R

1#8 (Race No.26)

& No. K% g Bga AL EE
1 36 HI 555 HIERSSC 34 52.572
2 34 RIFF E#0 HIERSSC 21 52.786
3 3B HWl & HEIERSSC 13 53.803
4 33 mlll #HF HEYST 8 56.259
FEEHEFYLUSHY T I—rIVIRE—R Ry — RS PERC AR ER27FE9B27H
INFEE B EEE LTF 500m
2 L—ALfi4
1#8 (Race No.22)
& No. K% g Bga AL EE
1 36 HI 555 HIERSSC 53.039 q
2 37 AH B HIERSSC 55.635
3 39 HEE FRmE —EfHSC 57.100
4 38 FLE AKX FH = HRSSC 1.00.952
2#8 (Race No.23)
&l No. K% g Bga AL EE
1 34  FIFT = HIERSSC 54.814 q
2 35 Wil & HIERSSC 54.949 q
3 33wl #&BF WEITT 55.433 q
4 32 g #EE ETERT—NFT 58.971



3 IEHI SR (BEEE A IE L)

FISARFEFrLUIHYT a— S IRE—RRT— I REEVLFEFVIKRE

INEEFSFE ZF 1000m

5K B No K4 i Gz FP X AL i &%=
R 1 36 dall 555 +HIERSSC 1T 1 34 1.48.534

2 3B W/ E tH#EJRSSC 1T 2 21 1.50.703

3 34 BlIFT = +HIERSSC 2 3 13 1.50.411

4 39 HEE i —=EfHSC 3 4 8 1.51.894
FiE 5 37F\/HF FJH +HIERSSC 2 1.53.699

6 33 £F wEIZT 3 1.54.308

7 328l #HEx ETERS—NST 4 2.04.118

8 38HLE HK FH =D RSSC 4 2.06.398

Loxz!)—

C-AFaJ—K




A BT (GIVFED
(Ta—Frouo5RR)

E1BRIEHEF YL SHY T a— I IRE—RRY—FERESPEURIKRE FER27E9827H
INEEFSEE KF 1000m
R
1#1 (Race No.44)
EIE No. K& g Ba A L k=
1 36 il 555 FB#E[RSSC 34 1.49.144
2 3B HiIl & FA#E[ESSC 21 1.50.703
3 34 RIFF = FAHEESSC 13 1.51.103
4 39 Rk G —=HHESC 8 1.51.894
E1BRIEHEFrLUCHY T a— IO RE—R RS —FERESPESRIKRE FER27E9827H
INEEFSEE KF 1000m
2 L—X L{i4
1% (Race No.40)
EIE No. K& g e B4 L k=
1 36 il 555 FB#E[RSSC 148534 q
2 34 RIFF =E#0 AHE[ESSC 150411 g
3 39 i fREX —EfHSC 1.53.608 q
4 38 ML HXK FHE FLSSC 2.06.398
2#8 (Race No.41)
EIE No. K& iz e A L k=
1 3B Hil & FB#E[RSSC 152854 q
2 37 AH = BHERSSC 1.53.699
3 33 Tl #%F HEITD 1.54.308
4 32 B $#EE ETERT—NITT 2.04.118



A IE6 R (BB R IREL)

va—kcTY 5

FISARFEFYLUSHYT L a— b SYIRE—R AT — REEPFUIKRE

INEEFSFE LF 1500m

5K B No K4 Bil=] JIEs FP RS AL IR &%=
R 1 36 g1y 555 tBHEESSC 1 34 2.46.881

2 34 BT EM HHIERSSC 2 21 2.46.949

3 BHI & H#EFESSC 3 13 2.48.870

4 31 HH B FHEJRSSC 4 8 2.49.329

5 33l #HF HEITT 5 5 2.50.239

6 39 HEE f&ex —=EHHSC 6 3 2.52.834

7 38 ME BHK FHRE P HRSSC 7 2 3.09.762

Lozxl)—

C-AFaTJ—F




A BT (GIVFED
(Ta—Frouo5RR)

E1BRIEHEF YL SHY T a— I IRE—RRY—FERESPEURIKRE ER27FE9B27H

INEEBSEE KF 1500m
R

1#1 (Race No.8)

&g No. K4 i@ 52 A Ls k=
1 36 HI 555 HIERSSC 34 2.46.881
2 34  FIFT =0 HIERSSC 21 2.46.949
3 35 HIl & +EIERSSC 13 2.48.870
4 37 AH ER HEIERSSC 8 2.49.329
5 33 mWil #%F HEYSD 5 2.50.239
6 39 HEE FREE —EfHSC 3 2.52.834
7 38 HLE HMK FHRE FHSSC 2 3.09.762



AR IBHLE B S IEE)

FIBAIRFREF LU OhyToa—bhSvIRE—R Ry — b HRBRRPFEVIRE

INBERSE L F

IEfZ No K4 g BA SF IEfis 8mEk = ErsE (0)500m (p)1000m (p)1500m  {E
22 XA F=E tH#EJRSSC 26 8 2.57.700 9 9 8
21 B £ Ligissc 31 10 2.57.940 11 10 10
24 TH ¥ +HIERSSC 68 6 1 238095 (341 (21)2 (13)3
25 Ejh E +HIERSSC 8 21 4 252091 10 (8)4 7
3N Hig AR —=HHSC 22 6 257735 6 7 9
29 fREH EF KESSC 5 18 5  2.46.401 7 6 (55
27 K% ¥ INBER 42 12 2 238005 (21)2 8 (21)2
28 5T INBER 81 5 1 237297 (13)3 (34)1 (341
26 fEE EW INERER 29 11 3 238249 (84 (13)3 (8)4
20 HH BE B ER 3 16 5 2.49.285 5 5 (36
23 XA T +HIERSSC 8

Loxl)—

C-AFaT—F




3 IEHI SR (BEEE A IE L)

FISARFEFrLUOHYT a— S IRE—RRT— M REEVCFEFVIKRE

hEE 4 SRE ZF 500m

5K B No K% & JE 1L FP IR a0 8K ik

R 1 24FHA ¥ FBfEESSC 1 1 1 34 48.387
2 27 KEF 5 INBER 1T 2 2 2 48.985
3 28T INBER 2 1 3 13 49.158
4 26 TERE B INBR R 1 2 4 8 49.272

ERE 5 20 HH BT B PR 2 3 51.910
6 31X AE —=HHSC 3 3 51.829
7 298fEH AE KE=ESSC 2 4 51.125
8 23HMHE F& +HIERSSC 3 4 53.204

FiE 9 22 #MH F= tHEJRSSC 4 53.881
10 25 Fsh & +HIERSSC 4 55.260
11 21 B3 =i Liissc 3 55.501

Loxl)—

C-AFa1J—K




A BT (GIVFED
(Ta—Frouo5RR)

E1ISEEHEFrLUSHYToa—rSUIRE—R Ry —rEEREPFEURIAS TRk2749827H
hEEEERAE ZF 500m
Iﬁ%
1#8 (Race No.28)
ElE No. K& g Ba A L k=
1 24 FH ¥ FB#E[RSSC 34 48.387
2 27 K¥ @ INBER 21 48.985
3 28 BT # INBERR 13 49.158
4 26 fER BT INEB R 8 49.272
FI8EEBRFrLUSHy T a—bSvIRE—RRr — MR OFUCAS Tr2749H27H
:|=+_¢_m$§é_¢_ ZF 500m
32
1#8 (Race No.18)
ElE No. K& g e A L k=
1 24 FH ¥ FB#E[RSSC 48.853 Q
2 27 KE INBER 49.900 Q
3 31 Rk AR —=HHESC 51.829
4 29 fRE BAE KESSC 51.883
2#8 (Race No.19)
ElE No. K& iz e A L k=
1 2868 &TF # INBESR 50.502 Q
2 26 fER IE b INBREERL 50.647 Q
3 20 HH B\E AR PR 53.186
4 23 A FE FA#EESSC 55.257
EISEEHEFrLUSHYTLa—rSUIRE—R Ry —rEREPFEURIAS TRk2749827H
:|=+_¢_m$§é_¢_ ZF 500m
L—AL{i8
1#8 (Race No.12)
ElE No. K#£ g e A L k=
1 24 FH ¥ FB#E[RSSC 49.119
2 20 HH B\E AR PR 51.910
3 23 A FE FA#E[ESSC 53.204
4 25 Eijh HE tA#E[ESSC 55.260
2#8 (Race No.13)
ElE No. K& g e A L k=
1 26 TER ED INBREER 49.401
2 28 BT # INBER 49.452
3 31 Rk #AE —=HHESC 53.318
4 22 A F=F FBERSSC 53.881



3% (Race No.14)

&g No. K#£ TE 52 A Ls k=
1 27 K¥ @8 INBER 50.214
2 29 fRE EAE KE=SSC 51.125
3 21 &L E8 Li#gissc 55.501



3 IEHI SR (BEEE A IE L)

FISARFEFrLUOHYT a— S IRE—RRT— M REEVCFEFVIKRE

thig & S A ZF 1000m

5K B No K% & JE 5z FP IR a0 8K ik
R 1 288T # INBER 1T 1 1 34 1.39.646
2 24 F@E ¥ +HIERSSC 1T 2 2 2 1.43.226
3 26 TEE B INBR R 2 1 3 13 1.39.936
4 25 Fsh H +HIERSSC 3 2 4 8 1.50.342
R 5 20 HHE BHE B PR 2 3 1.45.062
6 29 fREH AT KESSC 2 3 1.47.010
7 3 HE AR —=HHSC 3 4 1.47.315
8 27 KEF ¥H5 INBER 1 Penalty 1.44.247
FiE 9 22 #MH F= tH#EJESSC 4 1.53.604
10 21 &3 =i Liissc 3 1.53.726
23 XA T tH#EJRSSC DNS
Loxl)—

C-AFa1J—K




A BT (GIVFED
(Ta—Frouo5RR)

E1ISEEHEFrLUSHYToa—rSUIRE—R Ry —rEEREPFEURIAS TRk2749827H
thiE 4 S84 ZF 1000m
Iﬁ%
1% (Race No.46)
ElE No. K& g Ba A L k=
1 28 BT *ﬂ INBESR 34 1.42.557
2 24 FH ¥ FA#E[ESSC 21 1.43.226
3 26 fER E INB R 13 1.43.360
4 25 Eijh HE tAHE[RSSC 8 1.51.135
FI8EEBRFrLUSHy T a—bSvIRE—RRr — MR OFUCAS Tr2749H27H
:|=+_¢_m$§é_¢_ ZF 1000m
32
1#8 (Race No.36)
ElE No. K& g e A L k=
1 26 ER ED INBHR R 145691 Q
2 25 Eijh B AHE[ESSC 150342 Q
3 29 fRA EEF KESSC 1.56.197
- 27 JKE ¥ INBER Penalty
2#8 (Race No.37)
ElE No. K& iz e A L k=
1 28 AT *ﬂ INBER 143815 Q
2 24 FH *; FAHE[ESSC 144141 Q
3 20 HH #\E AR PR 1.45.062
4 31 ik #AE —=HHESC 1.47.315
EISEEHEFrLUSHYTLa—rSUIRE—R Ry —rEREPFEURIAS TRk2749827H
:|=+_¢_m$§é_¢_ ZF 1000m
L—AL{i8
1#8 (Race No.30)
ElE No. K#£ g e A L k=
1 24 FH ¥ FB#E[RSSC 1.45.689
2 20 HH B\E AR PR 1.46.441
3 21 ,J?u_ EiE Li#issc 1.53.726
- 23 A FE&E tA#E[ESSC DNS
2#8 (Race No.31)
ElE No. K& g e A L k=
1 2868 &TF # INBESR 1.39.646
2 26 fER E INBREERL 1.39.936
3 31 Rk #AE —=HHESC 1.51.740
4 22 A F=F FBERSSC 1.53.604



3% (Race No.32)

&g No. K4 i@ 52 A Ls k=
1 27 KB ¥E INBER 1.44.247
2 29 fRA EAFE KE=SSC 1.47.010
3 25 Eih B HIERSSC 1.52.284



3 IEHI SR (BEEE A IE L)

FISARFEFrLUIHYT a— S IRE—RRT— I REEVLFEFVIKRE

thig & S AE ZF 1500m

5K B No K% & B FP X AL i &%=

R 1 288T # INBER 1T 1 34 2.37.297
2 27 KEF %5 INBER 3 2 21 2.38.005
3 24FH ¥ +HIERSSC 2 3 13 2.38.095
4 26 TERE B INBRER 1 4 8 2.38.249
5 29 ffH RAE KESSC 2 5 5 2.46.401
6 20 HHE HE B R 3 6 3 2.49.285

FiE 7 25 Es5h E tAEESSC 4 2.52.091
8 22 #HE FE= tH#EJRSSC 4 2.57.700
9 31 ik AR —=HHSC 5 2.57.735
10 21 &3 =i Lissc 5 2.57.940

23 1AE FE tH#EJRSSC DNS
Loxl)—

C-AFa1J—K




A BRI R (SVEFD

(Ta—Frouo5RR)

FEEHREFYLUSHY T I—rIVIRE—R Ry — RS PERC AR ER27FE9B27H
hig 4 SR A ZF 1500m
Iﬁ%

1#8 (Race No.10)

b= 2] No. K% g Bga AL EE
1 28 BT # INBER 34 2.37.542

2 27 KB ¥E INBER 21 2.38.005

3 24 FH ¥ HIERSSC 13 2.38.095

4 26 TER B INBRER 8 2.38.249

5 29 fRA EAE KE=SSC 5 2.46.401

6 20 HiH #HE B R 3 2.49.285
FEEHEFYLUSHY T a—rIVIRE—R R — RS PER AR ER27FE9B27H

hig 4 SR A ZF 1500m
2 L—ALE4I6

1#1 (Race No.2)

b= 2] No. K% g Bga AL EE
1 26 fER B INBRER 2.40.400

2 29 fRE EAE KE=SSC 2.49.080

3 20 HiH BHE B R 2.50.840

4 22 A F= HEIERSSC 2.57.700

5 21 B EiE Ligissc 2.57.940

- 23 M@ FE FAHE[RSSC DNS

2#8 (Race No.3)
b= 2] No. K% g Bga AL EE
1 28 BT # INBER 2.37.297

2 24 FH ¥ HIERSSC 2.39.207

3 27 KB ¥H INBER 2.43.356

4 25 Eih B BHERSSC 2.52.091

5 31 Kk #E —EfHSC 2.57.735
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